
Mathematik

Formelsammlung Logarithmen – Mittelstufe
Definition

ax = b ⇐⇒ x = loga(b) mit a, b > 0 2x = 64⇒ x = log2(64) = 6

loga(ax) = x lg(105) = 5

aloga(x) = x 10lg(5) = 5
Spezielle Basen

dekadisch: lg(x) := log10(x) lg(100) = 2

natürlich: ln(x) := loge(x) ln(e−3) = −3
Basenwechsel

loga(x) = ln(x)
ln(a) = lg(x)

lg(a)
log2(32) = lg(32)

lg(2)

Logarithmengesetze

loga(x · y) = loga(x) + loga(y) loga(3 · x) = loga(3) + loga(x)

loga(x

y
) = loga(x)− loga(y) loga( 3

x
) = loga(3)− loga(x)

loga( 1
x

) = − loga(x) loga( 1
10) = − loga(10)

loga(xm) = m · loga(x) loga(x3) = 3 loga(x)
Spezielle Werte

loga(a) = 1 lg(10) = log2(2) = log3(3) = 1

loga(1) = 0 lg(1) = log2(1) = log3(1) = 0
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